



Bihar Rural Livelihoods Promotion Society State Rural Livelihoods Mission, Bihar



1* Floor, Vidyut Bhawan-II, Bailey Road, Patna - 800 021; Ph.: +91-612-250 4980; Fax: +91-612-250-4960; e-mail: info@brlp.in; Website: www.brlp.in

Ref: BRLPS/Proj-LH/1172/17/4117

Date: 03 · 12 · 2021

Addendum of the Office Order No. BRLPS/Proj-LH/1172/17/3136 dated 04.11.2017

In order to meet the current requirement of the project under the convergence programme of the Dept. of Agriculture, GoB, the following points have been approved in addendum of the office order.

- **1.** In line with point no. 5 of the aforementioned Office Order, the unit cost of CHCs is being changed. The current cost per unit for the establishment of CHC is as follows:
 - a. Aspirational District: The Department of Agriculture has selected 13 districts (refer Annexure I) as the aspirational districts for establishment of CHCs. Thus, target of CHCs is being revised and every district must ensure the submission of online application till 30.11.2021. After receiving sanction order from the Department of Agriculture, CLFs/VOs may proceed with further processes of procurement as per the CHC guidelines of BRLPS. The CLF/VO will receive Rs. 10,00,000 only as the project cost for establishment. The subsidy received from the Dept. of Agriculture may be used in CLF to cover CHC start-up and other operational costs such as shed construction, driver expenses, diesel expenses, leasing of space, extra equipment purchase, repair of equipment's, insurance of machinery etc. The expenditure may be done with proposal in agreement with SPMU. Detail is mentioned on annexure. IV.
 - **b. Non-Aspirational Districts (Full Cost Model):** Under this model, BRLPS will provide the entire establishment cost subject to the fulfilment of the following criteria.
 - i. The district must get a declaration from the Department of Agriculture stating that the CHC Subsidy Fund is not available in FY 2021-22. Following receipt of the declaration, the district would communicate with designated CLFs to begin the establishment process in accordance with the guidelines. The concerned CLF would receive fund up to Rs. 13,50,000 per CHC through the project.

- c. Flexi Fund of DoA for Special CHC: The Districts in this category may be allowed to develop CHCs costing up to Rs. 20,00,000. The concerned CLF will have to apply in the Department of Agriculture for the Special CHC, and once approved, CLF would be able to proceed for establishment procedure. According to the Department of Agriculture guidance (As per Annexure-II & III), the CLF will purchase a 55 HP tractor and equipment relevant to crop residue management practises.
- 2. The serial No. 1 (a), (b), and (c) unit costs are to be considered as a grant for the CLF and are not to be repaid to the project. The subsidy fund will only be used to buy extra or other machinery for rental that is extremely relevant and needed in the region, as well as approved at the CLF meeting.
- **3.** CLF may utilise its corpus for the expenditure (other than machinery) till the subsidy is received from the Department of Agriculture. Required Bookkeeping in CLF should be done properly.
- **4.** The foregoing provisions in points 1, 2 and 3 will be considered as a revised update to the CHC guideline (BRLPS/Proj-LH/1172/17/3136 dated 04.11.2017), and districts may operate in accordance with them until a new guideline is issued.
- **5.** Every expenditure in CHC establishment and related business activity / transaction should be entered in CHC App. App link is given below: http://52.172.141.50/CHCAppl/mobapp/chcappln.apk
- **6.** Books of record for CHC establishment and related business activity / transaction to be completed by 30th Dec-2021. Further it would be updated regularly.
- 7. For the FY-2021-22 the revised target and Budget is given in the Annexure I.

(Balamurugan D

Chief Executive Officer-Cum-State Mission Director

Copy to:

- 1. Secretary, Dept. of Agriculture, GoB
- 2. Director, Dept. of Agriculture, GoB
- 3. All DPMs/Thematic Managers/BPMs
- 4. All PCs/ SPMs/SFMs/PMs/AFMs
- 5. OSD/Director/AO/CFO/PS/PO
- 6. IT Section
- 7. Concerned File

		Custom Hir	ring Centre	Annexure-I		
S. No.	District	District Type	Revised CHC Target for FY - 2021-22	Unit Cost	Approved Amount for CHC	
1	Araria	Aspirational	12	1000000	12000000	
2	Aurangabad	Aspirational	22	1000000	22000000	
3	Banka	Aspirational	22	1000000	22000000	
4	Begusarai	Aspirational	36	1000000	36000000	
5	Gaya	Aspirational	48	1000000	48000000	
6	Jamui	Aspirational	20	1000000	20000000	
7	Katihar	Aspirational	20	1000000	20000000	
8	Khagaria	Aspirational	14	1000000	14000000	
9	Muzaffarpur	Aspirational	32	1000000		
10	Nawada	Aspirational	28	1000000	32000000	
11	Purnea	Aspirational	28	1000000	28000000	
12	Sheikhpura	Aspirational	12	1000000	28000000	
13	Sitamarhi	Aspirational	34	1000000	12000000	
14	Bhagalpur	Non- Aspirational - Full cost Model	3	1350000	34000000 4050000	
15	Darbhanga	Non- Aspirational - Full cost Model	3	1350000	4050000	
16	East champaran	Non- Aspirational - Full cost Model	6	1350000	8100000	
17	Gopalganj	Non- Aspirational - Full cost Model	3	1350000	4050000	
18	Jehanabad	Non- Aspirational - Full cost Model	2	1350000	2700000	
19	Kishanganj	Non- Aspirational - Full cost Model	3	1350000	4050000	
20	Lakhisarai	Non- Aspirational - Full cost Model	2	1350000	2700000	

36	Rohtas	Flexi Fund of DoA for Special CHC	5	2000000	10000000
35	Patna	Flexi Fund of DoA for Special CHC	5	2000000	10000000
34	Nalanda	Flexi Fund of DoA for Special CHC	4	2000000	8000000
33	Kaimur	Flexi Fund of DoA for Special CHC	3	2000000	6000000
32	Arwal	Non- Aspirational - Full cost Model	3	1350000	4050000
31	West Champaran	Non- Aspirational - Full cost Model	5	1350000	6750000
30	Vaishali	Non- Aspirational - Full cost Model	2	1350000	2700000
29	Supaul	Non- Aspirational - Full cost Model	2	1350000	2700000
28	Siwan	Non- Aspirational - Full cost Model	2	1350000	2700000
27	Sheohar	Non- Aspirational - Full cost Model	3	1350000	4050000
26	Saran	Non- Aspirational - Full cost Model	3	1350000	4050000
25	Samastipur	Non- Aspirational - Full cost Model	3	1350000	4050000
24	Saharsa	Non- Aspirational - Full cost Model	2	1350000	2700000
23	Munger	Non- Aspirational - Full cost Model	2	1350000	2700000
22	Madhubani	Non- Aspirational - Full cost Model	3	1350000	4050000
21	Madhepura	Non- Aspirational - Full cost Model	4	1350000	5400000

37	Bhojpur	Flexi Fund of DoA for Special CHC	3	2000000	6000000
38	Buxar	Flexi Fund of DoA for Special CHC	3	2000000	6000000
	То	tal	407		449600000

Annexure-II



11

अनुसूची-3A

Flexi Fund से स्पेशल कस्टम हायरिंग सेन्टर की स्थापना हेतु जिलावार भौतिक लक्ष्य का विवरण (कार्यान्वयन) वर्ष 2021–22)

SI. No.	Name of District	Gen	SC	ST
1	Kaimur (Bhabhua)	2	1	1
2	Rohtas	2	1	1
3	Bhojpur (Ara)	2		0
4	Nalanda /	2		0
5	Buxar /	1	1	1
6	patna /	2	0	0
7	Nawada -	1	1	0
8	Gaya /	0		
9	Aurangabad /	. 1		0
Total		13	8	4

多级

3,4.1



फसल अवशेष प्रबंधन हेतु स्पेशल कस्टम हायरिंग सेन्टर (कृषि यंत्र बैंक) की स्थापना हेतु सहायता

जीविका के समूह / ग्राम संगठन / कलस्टर फेंडरेशन, आत्मा से सबद्ध फार्मर इन्ट्रेस्ट ग्रुप (FIG), नाबार्च / राष्ट्रीयकृत बेंक से संबद्ध किसान वलब, Farmer Producer Organization (FPO), स्वयं सहायता समूह, निर्माता / उत्पंभी (Entrepreneur) एवं प्रगतिशील कृषकों को कृषि यंत्र बैंक स्थापित करने का सुनहरा अवसर

कृषि विभाग, बिहार सरकार द्वारा वितीय वर्ष 2021-22 में सब मिशन ऑन एग्रीकल्चरल मेकेनाईजेशन योजनान्तर्गत फ्लेक्सी फण्ड के तहत् 300.00 लाख (तीन करोड) रूपये की लागत से कृषि यंत्र बैंक स्थापित किया जाना है।

- बिहार राज्य के ग्रेम्ट्र, तेहतास, भोजपुर, नालन्दा, बवसर, पटना, नवादा, गया, आरंगावाद जिलों में 20 लाख रूपये तक की लागत वाले कुल 25 स्पेशल कस्टम हायरिंग सेन्टर (कृषि यंत्र बैंक) की स्थापना किया जाना है, जिस पर 80 प्रतिशत अधिकतम 12.00 लाख रूपये प्रति कृषि यंत्र बैंक अनुदान दिया जायेगा।
- प्रत्येक कृषि यंत्र बैंक के लिए कम से कम तीन फसल अवशेष प्रबंधन के यंत्रों का क्रय करना अनिवार्य है।
- र इसके लिए 55 PTO HP तक के ट्रैक्टर पर 40 प्रतिशत अधिकतम 3.40 लाख (तीन लाख बालीस हजार) रूपये अनुदान देय हैं, जबकि अन्य यंत्रों पर 80 प्रतिशत अनुदान देय हैं।
- राज्य के इच्छुक जीविका के समूह/ग्राम संगठन/कलस्टर फेडरेशन, आत्मा से संबद्ध फार्मर इन्ट्रेस्ट ग्रुप (FIG), नावार्ड/राष्ट्रीयकृत बैंक से संबद्ध किसान क्लब, Farmer Producer Organization (FPO)/रवयं राहायता रामूह, निर्माता/उद्यमी (Entrepreneur) एवं प्रगतिशील कृषक अपनी सुविधानुसार, कहीं से भी ऑनलाईन आवेदन कर सकते हैं। कृषि यंत्र बैंक स्थापित करने हेतु कृषि विभाग के Website: www.farmech.bih.nic.in पर दिनांक 27 10 2021 से 30.11 2021 तक ऑनलाईन आवेदन किया जा सकता है।







TO THE CONTRACTOR OF STREET

नोट — विशेष जानकारी के लिए संबंधित जिले के सहायक निदेशक (कृषि अमियंत्रण) / जिला कृषि पदाधिकारी से सम्पर्क कर सकते हैं |

Nidhi 18:11:21 Spm-LH)

कृषि यांत्रिकरण योजना

सब मिशन ऑन एग्रीकल्चरल मेकेनाईजेशन (SMAM) योजनान्तर्गत कृषि कल्याण अभियान फेज-III (2021-22)

		का समूह द्वार		
SI. NO.	Name of District	No. of Block	Target	No. of Application by Jivika Group
1	Araria	6	12	17
2 /	Aurangabad	11	22	0
3	Banka	11	22	6
4 /	Begusarai	18	36	0
5	Gaya	24	48	49
6 /		10	20	
	Katihar	10	20	6
8	Khagaria	7	14	12
9	Muzaffarpur	16	32	16
10	Nawada	14	28	17
11	Purnia	14	28	34
	Sheikhpura	- 6	12	3,
12 /	Sitamarhi	17	34	8
13 -	Total	164	328	169